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COMMERCE - 1II

arforsa - 11

: 1S

Which of the following is not a criterion
laid down by RBI for NPA ?

(A) Interest on loan taken to purchase
personal assets remaining overdue
for 60 days.

(B) Interest on loan remaining overdue
for 90 days.
(C) Interest on loan taken for long

duration  agricultural crop
remaining unpaid for one crop

season.

(D) Interest on loan taken for short-

duration  agricultural  crop
remaining unpaid for two crop

seasons.

Cost Audit comprises following three
steps :
(A) @

(i) Verification

Identity wastage

(iii) Reformation of cost plans
(B) ()
(i) Cost Analysis
(iii) Reporting
© @
(i) Verification
(iii) Reporting
D) @
(i) Cost Analysis
(iiiy Reporting

Cost Planning

Review

Cost Determination

frfafiaa § § SFE1 AHes RBI 51 NPA

=1 Fauifia & foean 2

(A) Sofferes TRt & wa ¥ fag, i
mmmwmﬁfﬁ%ﬁmm
el

(B) o1 T =TS 90 el % feg, et

(C) Srdwed FH wad & fag, o T
501 TR S U HHE Hram & fan
e @

(D) ST B wae % fag, forl T
mwwa’tmwﬁaﬁf%
feru ote™ @M

mﬁmﬁﬁm%mwaﬁ%:

(A) @) & e w:
(i) —HHH FEA
(iii) SATTA TS 1 YA AT

(B) () @ ST F
(i) WA fereeror HTH
(i) wfaeE &

(© () R FT
(i) EET HT
(iii) wfrEEA <

(D) () @ FER w
(i) TPTA fergeror T
(i) wfadrE &
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The difference between ‘Rule of
Communication of Acceptance’, as under
English Law and Indian Law is :

(A) In the position of offerer
(B) In the position of an accepter

(C) Both in the position of offerer and
acceptor

(D) Neither of them

Which of the following is not included in
Job description ?

(A) Working Conditions
(B) Duties
(€) Work Experience

(D) Hazards

Which of the following type of tests
measure practical ability on a specific job,
during the selection process ?

(A) Personality Tests
(B) Knowledge Tests
(€) Work Sample Tests

(D) Intelligence Tests

st iR wreta fafy & sffa, ‘dg=m
frem’ & offe o 9o fimar 8 2

(A) T =t ueet §

(B) IR % gadt H

(C) THoce iR wieradl SFf % veat &

(D) T A F T

Fr=fafed 4 @ $mn = foewo § fafeq
TEE?

(A) = g
(B) FdA
(C) wmEigya
(D) Sifew

=31 Uikl & IRA fAfafEd § 4 $9-T
T 1 YR e 1 w smEefi aua
I HGA E ?

(A) =afera adem
(B) M wlietor

(C) = wfaeet Thram
(D) dfs wem
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The extent of closeness among inventory
turnover ratio, debtors turnover ratio and
cash turnover ratio of a firm can be
assessed by using :

(A) Spearman’s rank correlation
coefficient

(B)  Yule's coefficient of colligation
(C) Kendall's coefficient of concordance

(D) Pearson’s simple correlation
coefficient

Consider the following statements :

(a) Securities are backed by long term
loans with high interest rates.

(b) Securities are backed by short term
loans with low interest rates.

(c) Securities are backed by accounts
receivable.

(d) Securities are backed by royalty
payments from contracts.

Which of the statement/ statements given
above is/are correct ?

(A) Only (a)

(B) (a) and (b)

(©)  (a), (b) and (c)
(D) (a), (b), (c) and (d)

fordlt % Wy ared aTaE, Y e
ST 3T THS ST ST &% FeA Frepean
T =1 yeaisna foran o weher &

(A) TR HT F ¥F He-Hey o

(B) I =1 WeASH TUH

(C) =HU=/ = GEIfd onieH
(D) HIEHA 1 W He-dsY Ui

Frafafan Foi w foamr #ifu .

(a) wfgferi =, 3= =amet o o g Setafy
=0 9 wfefa fman sma )

(b) wfafrEt =1 fr = <0 % @i
ety | gafefa fram sma )

(c) W= w@l % g/ wiayfasi =1 gufdq
fopan s €1

(d) STISHT &y wnfie WA yram
s wfayfadi st wmfeda fapan sman &

Wi U T FH/ e ¥ P w@
§/€?

(A) %99 (a)

(B) (a) 3R (b)

© (a), (b) R (o)
(D) (@), (b), (c) *R ()
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8.  Marginal utility refers to change in the 8. HHIq STt frar, feet I HT TH-
total utility obtained from the T ¥ 9 F UG §
of an additional unit of a commodity. e wfar 7
(Fill in the blank with correct word) (3 W= g1 fiam wom &0t T HIFSTT | )
(A) Purchase (A) w7
(B) Creation (B) 9=
(C) Production (C) e
(D) Consumption (D) 3uHm
9, In effective target market, the marketers 9. TS 8 AT o faquAFat 1 @y Hfga
should focus on : WA :
(A) Market targeting (A) dINR @189 T
(B) Market positioning (B) =R feafg w
(C) Market segmentation (C) WS WEFo |
(D) All of these (D) Svd wft
10. Prescribed E-return form for assessee 10. e f99 Sae 399 Td =19 § 3 3, pecs|
whose income from salary and interest EZEGIED foru g-fied %@ Trwife o & .
only :
(A) ITR-1 (A) ITR-1
(B) ITR-2 (B) ITR-2
(C) ITR-3 (C) ITR-3
(D) ITR-4 (D) ITR-4
SPACE FOR ROUGH WORK / T% & % fordt wivig
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11,

12.

In case of dissolution of partnership firm
Debit side total of the partner’s Capital
Account is more than its credit side of the
treatment is :

(A) That partner brings Balancing
figure in cash.

(B) Hisaccountis closed with balancing
figure.

(C) Other partners pay him the
balancing figure.

(D) Firm pays balancing figure to that
partner.

Identify the key constituents for
performance marketing of Holistic

marketing dimensions from the

following :

(a) Customers

(b) Brand and customer equity
(c) Employees

(d) Ethics

(e) Environment

(f)  Sales revenue

(g) Financial community
A) @, © ©, @

B) ®). @), @) ©

©) (@ (®) (). (@)

(D) (. (&), O, (8

11.

12.

Terelt o o forere =t <en e faredt wdien
% YSit @Id 1 fawe vat 1 9n FHEeH
U | SR FIAT § o SR GHEE R

(A) € HIEER FHME1 Y THS T H A
AR

(B) eI @Il WY % WY wg HY fean s
gl

(C) 311 UEER 3 Tohe § 99 Ui g
.

(D) H 99 TRV W HIEHER I T €|

= 4 4 gifafes faum sl & o
fagom & fou &g dsesl %1 veam
HIfT :

(a) RS
(b) e 3R UEF W
(c) wFHEH

(d) ffaemes

(e) TATERU

(f) Teshi U=

(g) fodita wgem

(A) @ (o) (6, (g)
(B)  (b), (d), (e), (f)
©) @ (), (), ()
(D) (), (), (). (g)
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13. Match the items of List - I with those of ~ 13. §elt - 1% w2l =1 et - 11 F1 5 % Wy

List - IT and indicate the correct code. 'ﬁﬁﬁ’l’d FIfE 9 ?@I g HE W F =91
i |

List - I List - 11 et - 1 et - 11

(a) Make or buy decision (i) 80I A (a) WA =g Ieaifed (i) 801 A(Hm)
of goods (Section) I HT H

(b) Shut down or (i) Set off and (b) =HTEH g (i) == w0t gfd
continue of carry T A1 =0 W@ R I
business forward of & S

losses

() Renewal or (i) Section-32 () Wufwdl @1 TR (i) wwI- 32
replacement 1 gAEIA
of assets

(d) Undertakings (iv) Production (d) STYRYA GwE (iv) SUEH &Har
engaged in capacity % fasmg 2 TE AFT
development of and cost T 39y
infrastructure :
Code : +:

(@) (b) (d) (@) (b) (d)
(A) (iv) (i) (i) (A) (iv) (i) (i)
(B) (v) (i) (i) (B) (v) (i) ()
© @ () (iv) © @ () (iv)
(D) @) (@) (iv) (D) @@ @) (iv)
SPACE FOR ROUGH WORK / Y% &1 & f&d s
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14. Which of the following statements is not

15.

true in the context of Average Cost and
Marginal Cost curves ?

(A) Both the Average Cost curve and
Marginal Cost curve are U-shaped

(B) When Average Cost falls Marginal
Cost is more than average Cost

(C) Fall in Marginal Cost is related to
one unit of output while in case of
average cost fall is spread over all
the units.

(D) If Average Cost is constant
Marginal Cost must be constant.

Price at which stocks are sold to investors
by the investment banks is called :

(A) Spread
(B) Gross proceeds
(C) Net proceeds

(D) Earnings before tax

14.

15.

ArEd AT Ud S @ 9% % ge o
4 8 FR-T sy g @ 22

(A) 3f9d AP 9% Td HiEid S g
S U-3TR & €1

(B) v 3w @ firen € wmig o,
{rHa T | Afre g #1

(C) Hmia @ & fiee, smeeg % uw
THE W Haift B & W sia o
& "M § e gt st § wma
wAR

(D) 4fe 3frea @ feer g &, & g
T i feer g =nfw

ferer 1 gro Frarent 1 farsrar for 7w e
T ¥ FIOd T FEd L

(A) wEROT
(B) el Wiftat
(C) freret mifteat

(D) I qF ol
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16. Different countries and cultures have 16. fafa= o aﬂtwﬁr it faierf
taken different attitudes to the concept of I Hheqd T & for fafvm sraamond =t ¥
ecological responsibility, resulting thereby U oy ¢
in:

(A) transfer of production from (A) fohfaa g & fammsia =
developed countries to the ERICE IR B Gl
developing countries

(B) resistance to use green products (B) @ 39 % SuEnT W wfidy

(C) improved corporate social (©) fyefsa amfesw amfas fmafet
responsibilities

(D) shutting down of production (D) ST giawned & wwsar
facilities

17.  According to Gordon's dividend model,  17. & % wnsisl wfey (model) % 3TTER faft
a firm is said to be a declining firm if : FH 1 ST T e S A
(A) K>r (A) K>r
(B) K<r (B) K<r
(© K=r (C) K=r
(D) K=1/r (D) K=1/r

18. Memorandum of Association is defined 18. vyt srfyfay, 2013 ® G J197 (Aivey
under which Section of Company AF wEfquyF) frg urg § qRtafya faan
Act, 2013 ? TER?

(A) Section 2(55) (A) R 2(55)
(B) Section 2(56) (B) I 2(56)
(C) Section 2(57) (C) ¥ 2(57)
(D) Section 2(58) (D) T 2(58)
SPACE FOR ROUGH WORK / 7% &rd % fordt g
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19.  Out of the following which one is not the
technique of price level changes

Accounting ?

(A)

(B)

©

(D)

Current Cost Accounting (C.C.A.)
technique

Current Purchasing Power {CEP)
accounting technique

Current Price Detoriation (CP.D,)
accounting technique

Replacement Cost Accounting
(R.C.A.) technique

20. Types of non-tariff barriers are :

(a)
(b)
(©)
(d)
(e)

Governmeﬁt Procurement
International Cartels
Technical Barriers
Specific Tariff

Transit Duty

Which one of the following is correct ?

(A)
(B)
(©)

(D)

(b), (c), (e)
(©), (d), (e)
@), (d), (e)
@), (b), (c)

19.

20.

= 4 4 #7 @ 99w 59 w1 oRad

eI I dehteh T8 2

(A) =T AN TRETehe qehteh

(B) =1 9 wifea i dte
(C) = e frrae @i aes

(D) Wit AFTE e T

TR-UYe STIeT ¥ YR -
(a) TR FE

(b) SR Fie

(c) TeAIRT remd

(d) fafere e

(e) UREEa FX

Freferfias § & wH-or ad £ 2
(A4) (), (@), (e)

(B) (), (d), (e)

(©) (a), (), (e)

(D) (@), ®), ()

SPACE FOR ROUGH WORK / 7% &Td % oy Y
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21. Match the following : 21. frafafea = ghfea Hife

List-I List-II gt - 1 it - 11

(a) Optimal (i) Durand (a) = Yl W= () Tivs
capital structure

(b) Optimal (i) Markowitz (b) ¥ TN PEE (i) AR
dividend payout EiREID]
ratio
(c) Optimal portfolio (i) Walter () w=m faw g (iif) TR
(Frwferar)
(d) Optimal cash level (iv) Baumol (d) IT=TH TR =R (iv) e
Code : %e
@ () () () @ () (o (@
(A) @) ) () (iv) (A) @ @) (@) (v)
B O @) (@ (v B) O @) @ @)
© @) @@ @ @ © @) @) @) @)
D) () @ (@) (v) (D) @) @ @) (iv)

SPACE FOR ROUGH WORK / T% &7 & fod e
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22.  Match the following : 22. fr=fafaa = gafea sifse
List - I List - II -1 e - I
(a) Pearson’s first (i) Sig;;_iifg 1)1 (a) T =1 i 3l ‘::;’;::j)
measure of T=AT HT
skewness T 1Y
(b) Pearson’s second (i) ———_D"gfj[‘)lmz (b) T @ (i) ——_D‘—’g?j[")f%
measure of ST
skewness TE A
O Belers W) e O A ()
coefficiel_:lt of i,
skewness
(d) Kelly’s (iv) % @) Feh o dwEm () (Q-2Q:+0Q))
coefficient : o
o
of skewness
Code : w2 ;
| @ () () (q @ (b) (o) (q)
(A) @) @@ @ @) (A) @) @) @ (@)
(B) @) (@) @ (i) B) () (@) @ ()
©) @) @) (Gv) (i) © @) @ G@v) (i
(D) (v) @) @) (i) (D) Gv) @ () (i)
SPACE FOR ROUGH WORK / 1% &T4 % f&& wg
13 Set - A
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23. If P/V ratio is 40% and marginal cost of 23. 9fc gt s = Y/AET ST 40% &
a product is ¥ 30 the selling price of the A1 WH= AT 2 30 § A 39 foma T
product is : e
(A) T70 (A) T70
(B) T80 (B) T80
(€) T 50 (C).- 50
(D) T 72 (D) ¥72

24.  The authority to issue various policies in 24. fafy= Hifedt = w3 FIA F UIfFR
which of the following does match - Frefafes § 4 $9-m1 gAfea Far & 2
(A) Credit policy and - RBI (A) §rE Hifa o qa1 e - st ang.

monetary policy
(B)  Fiscal policy - Ministry of (B) wsteRIeta Hifr - anforeer wser, wRe
Commerce, ISR
Government of India
(C)  Foreign Trade - Ministry of (©)  facxit =R ife - anforer e, s
policy Finance, HEHR
Government of
India
(D) All of the above (D) 39ge |t
SPACE FOR ROUGH WORK / T% &T4 % forgy g
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25.

26.

The
international receipts and payments of a
country during a year.

(Select the appropriate alternative to fill
in the blank)

(A) Balance of Payments

(B) Balance of Trade

(€) Capital Account

(D) Annual Budget

Span of control refers to : 26.

(A) the number of subordinates an
executive can effectively control

(B) the number of layers in an
organization hierarchy

(C) the number of divisions that the
organization can effectively form

(D) None of these

is an annual record of 25.

fret <o 1w ¥ F sfadwiy wie el
CUGIEN 1 T A s 71

(R wom =t 9fd % fau sugs faseg
gfT)

(A) T Hge
(B) SAMR Hem
(C) sft e

(D) s a2

(A) srfoTeri &t Hem 58w arfuemd
yyret w9 9 it o g @

(B) U HISHA YE-UMM H & # TEm

(C) fawri =t den 58 uw Gwew yuE
Y 9 i X g &

(D) T 9 FE 78

SPACE FOR ROUGH WORK / T% &4 &% o e
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27. In accounting the policy “Anticipate no 27. oEHT § ey QAT 1 FE s [t
profit and provide for all possible losses” 9 Tl & oI wraem =Y &5 Aify T
isa:

(A) Convention of materiality (A) WAl HT YRy
(B) Convention of consistency (B) Trafuaar &t sy
(C) Convention of conservatism (C) wfafear =t qrem
(D) Convention of disclosure (D) WeH HT ey

28. Henri Fayol has suggested 28. BN Harw 3 &M F yeyq
number of management principles. el i et faman o
(A) 12 (A) 12
(B) 14 (B) 14
©) 16 (C) 16
(D) None of these (D) 39d= & % 7

29. The surplus of sources of Funds in Fund 29. FIY yaE ﬁ'@!‘(‘ﬂl & H9 I 98 ey
Flow statement state : AT E
(A) Borrowed Funds (A) SR ford 1 %y
(B) Increase in Fixed Funds (B) it wrdi # gfig
(C) Increase in Fund Payments (C) =iy YA o gfg
(D) Increase in Working Capital (D) =rife gsit § 5fg

SPACE FOR ROUGH WORK / 1% &1 % forg e
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30. The main Act that regulate the insurance

31.

business are :

(A) Insurance Act and IRDA Act

(B) Life Insurance Act and IRDA Act

Insurance Act, IRDA Act and
Indian Contract Act

General Insurance Act, IRDA Act
and Indian Contract Act

(D)

Which one of the following is not a theory
of International trade ?

(A) Ricardian theory of comparative

cost

(B)

Theory of Reciprocal demand
(J.S. Mill)

(C) Opportunity cost theory (Haberler)

(D) None of these

30.

31

T g At S ol s = FE
AT

(A) s afufrm it s LT
sifufTam

e sfrmn sifafam 3R o Rl
sfufram

(B)

w1 sifufm, e em g, fufaw
3w dfaer sifafm

(©)

(D) @ s etfufem, oTE. T,
AfafEm IR vyrde dfaer sifufm

e § § S9E SHEE 2r ) fagid
TEE?

(A) Teret =1 gaTrs @ fagia
(B) URwHfisk | & fagia (S.wd. fAe)

(C) e @ fagid (Fever)

(D) T 9 g T

SPACE FOR ROUGH WORK / T% &4 & foa s
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32,

33.

34.

Sections related to Tax deducted at source
are :

(A) 190 to 196
(B) 190 to 194
(C©) 192 to 19

(D) 191 to 196

Bonds that are denominated and pay
interest in one currency and are
redeemable in another currency are
termed as :

(A) Yankee Bonds
(B) ECU Bonds
(C) Dual Currency Bonds

(D) Double Benefit Bonds

Which of the following is the minimum
number of persons required for a
partnership ?

(A) 6
(B) 8
©) 2

(D) None of above

32.

33

34.

STM ®IF W F 6t FAN § Fefeg g
g

(A) 190 & 196
(B) 190 ¥ 194
(€) 192919

(D) 191 ¥ 1%

e S SR e W e e o g
@h@ﬁﬁgwﬁmmwma’r
RAEERGHE R KR Op o
@a‘mﬂa@%:

(A) T Seoy
(B) Iy «wugy
(C) <&l g1 siyws

(D) T Y Syay

WA % fAU e frad safwdt st
SATTITFAT Bt & 2

(A) 6

(B) 8

C) 2

(D) SW H | % 78

SPACE FOR ROUGH WORK / T% &4 & fordl wmg
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35.

36.

‘Match the items of List-I with List-II
indicate the correct code of matching :
List - I List - IT
FEMA (i)  The right to value

or consideration

Consumer (i) 49 Sections
Protection Act
Economic (iii) Judiciary Powers
Environment
Political and (iv)" Industrial Policy
Government
Environment
Code :

(@ (b) () (d)

(A) () (@) @) (@

(B) @) @ @ @)
©) @ @) (@v) @)

(D) @ @ (v) (i)

The sensitivity of return on capital
employed to changes in the level of
current assets is called :

(A) Operating leverage
(B)
©)
(D)

Financial leverage
Working capital leverage

Current assets leverage

35.

(b)

(©)

(d)

36.

HeIt-1 3R GEl-11 % 781 1 gafer st

TS W& foe & e & T

et -1 it - 11

AT (i) T FeEn wiavhe
&l AfHHR

IYHTERT HET0 49 T

syfafTay

anfefar gateo =nfaer vifear

T 3R
EEECAT DI CRL |

afrenfiTe Hfa

(@) (b)
(iv) (i)
(i) @ @
© @ (i)
@@ @

A ity 6 R o aftads o % fag
T Uit IR WiAwe i Gagasiierd weer
£

(A) ufEmeH @Y
(B) faita &%

(C) =rdiiet it e
(D) =e] uftgeafa @y

SPACE FOR ROUGH WORK / T% &1 & fod sie
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37.  Inthe early stage of product life cycle, the

38.

highly competitive industries follow :

(A) Expansion strategy

(B) Diversification strategy

(C) Functional area support strategy

(D) None of these

Statement - I : Minor income is exempt
to the extent of T1500.

Statement - II : Income of T1500 of a
minor child shall not be included in the
income of his mother or father.

(A) Both statements are correct.

(B) Both statements are incorrect.

(C) Statement -1 is correct while
Statement -II is incorrect.

(D) Statement-I is incorrect while
Statement -1I is correct.

37.

38.

SIS ST =056 % Wi &R § 557 whee
SR STaRTor e &

(A) fowm wrify
(B) fafayerzor worfify
(C) Y=mEieaF &5 TuefT oy

(D) ¥4 4 % =&

FAT - 1 : T H 3 T1500 9 F1
o Bt &

HIT - 11 : TF G5 = 1 319 21500
wmwmﬁmaﬁmﬁﬂﬁaﬁr
T |

(A) I For Tt ¥
(B) i e e ¥

(C) =T - 198 2 3R o - 11 7o 3

(D) T - 1 7Te1d @ 3R o - 11 met 3

SPACE FOR ROUGH WORK / 7% &7 % forr s
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39. In a test the probability of type I erroris ~ 39. U gdeyo i 2 - 1 Ff< =t wiferskan 0.01 ¥
0.01 and the probability of type II error is T 2R - 11 e 1 wifaran 0.05 € o wheor
0.05. Then the power of the test is : EIRIUES S
(A) 0.01 (A) 0.01
(B) 0.05 (B) 0.05
(©) 0.99 () 0.99
(D) 0.95 (D) 0.95
40.  From the following activities, find outthe  40. Tefetfiaa frashardi & @ fadei fafma amem
functions performed by a foreign s yef¥ia fou o rf = g
exchange market :
(a) Provision of credit (a) =R H1 HEYH
(b)  Issue of foreign currency (b) facef HET 1 SR T
(c) Provision of hedging facilities () i gfaensh =1 waym
(d) An OTC market (d) OTC ==K
(4) (@), (b) and () (A) (), (b) 3 (c)
(B) (a), (b) and(d) (B) (a), (b) 3 (d)
(© (@), (c) and (d) © (a), () &R (d)
(D) (b), (c) and (d) (D) (), (c) 3 (q)
SPACE FOR ROUGH WORK / 1% &4 % fed e
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41. Inwhich sequence the following stepsare 41, frefafed =i 4 9 HI-HT =07 Hee Joft
followed to ascertain median for & U wifeza faefo AT E?
continuous series ?

(a)  Frequencies are made cumulative (a) SRS 1 o2t s iy

(b)  The median is located in cumulative (b)  HE ARAR e B wifiee w5y T
frequency column and it lies in that B B 1R e Swt o H T e
class

N ..

()  The median is known by finding out (c) TfeTeRt =1 ST Sy ® 2 al 78 9

N jtem F % W | wifensn e g
2

(d) Median is calculated by applying (d)  RTEE % YT g Hifeerspy 5y TR
the formula [ERIECIES

Code : e :

(A) (@) (b), (), () (4) (@), (b), (o), (d)

(B) (@), (@), (b), (d) (B) (@) (), ®), (d)

©  © ®), (@), (@) ©  (© (). (a), (d)

(D) (@), (0), (b), (a) (D) (d), (), (), (@)

SPACE FOR ROUGH WORK / T% &1d & o s
Set - A 9210/TFU-COMM/ELG-II



42.

43.

Assertion (A) : Flexible exchange rate
involves deflationary effect.

Reason (R) : Flexible exchange rate
promotes international trade.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following statement is
true ?

(A) Goodwill of a business is not
deemed to be a capital asset.

(B) Contribution to a political party is
allowed expenses.

(C) Annual value of a house every year
remains the same.

Deduction for entertainment
allowance is availed by govt.

servant.

42,

43,

A (A) : 7 fafm =T sraemifa gamE
Hftrfeaa & §)

HROT (R) : 7 fafma @ i =R
1 YreHTed L & |

(A) W& (R) 3Hi T& € 3R (R), (A) F
el T B

(A)
(A) T (R) 1 T& € 9 (R), (A) F
TeEl TR0 7o &1

(A) T2 B, 9 (R) T4 ¥ |

(A) TeTd 2, T (R) WEt ¥

freafafes § 9 @9 o o w82
(A) =R = EAfa H gst uta 7& wm
ST Hehell |

TeHifeeh 9l =l fean T He wiga
= 7

(B)

TR HUft =1 a1t et wfqad g9
AL

©

RS W H G TR FHEART I
frerdt €1

(D)

SPACE FOR ROUGH WORK / % & & fo e
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44. Match the items of List - I with those of 44. gt - 19 7S ﬁﬁiﬁ' - 11 =t 931 | e
the List - II and indicate the correct Hifsr T W %2 2w FR
code.
List - I List - II -1 et - 11
(@) Clubbing of income (i) Transfer of (a) o & faeH (i) I 64 =1
US 64 BRI
(b) Exemption of capital (i) Benami (b) =T Yoft ww (i) ST ZEER
gains transaction
() Medical Insurance (iii) Normal (c) e T Hifagy (i) HE=
Premium maximum Afvrsan
limit Hrdl
T 25,000 < 25,000
(d) Donation (iv) Section 80 G (d) =™ (iv) ¥I80G
Code : T
@ (b) () (d) @ () () (g
(A) @ @) @@ () (A) @) ) @) (iv)
(B) @ @O (@) (v) (B) @ @ (@) ()
© @ @Gv) @ ) © @) @(v) (@) (i)
D) @) @ @ (i) D) (v) @ @ (i)
45. “Esprit de corps’ as a principle of  45. Yay7 fagid ¥ &9 # ‘tfre < widy’
management implies : e €
(A) Coordination (A) HH=F
(B) Formal order (B) =i wy
(C) Union of strength (C) W™= &1 Tt
(D) Goal direction (D) =g faem
SPACE FOR ROUGH WORK / 1% &4 % fod wre
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46.

47.

Assuming the normal distribution,  46.

suppose that a 95% confidence interval
for mean is (50, 60). Which of the
following could possibly be a 99%
confidence interval ?

(A) (48, 58)

(B) (48, 62)

() (52, 62)

(D) (52, 58)

Which of the following does not cause  47.

disequilibrium in Balance of Payment ?

(A) Lack of import substitution

(B) Payment of debts

(C) Lack of exports

(D) Unsatisfactory use of human

resource

g " gY o yam= de §, A o e
#* faw 95% favarem, siaret (50, 60) ¥
Frefafead | weaEd: 99% fovarsm sfava
2

(A) (48, 58)

(B) (48, 62)

(C) (52, 62)

(D) (52, 58)

frefafed § @ 19 @ YO & 99 o
ST 1 R TE € 2

(A) AW ST @ S19TE

(B) RO T YT

(C) fTrata =1 s1vma

(D) WM& HHIEA 1 SHASSHE T4

SPACE FOR ROUGH WORK / 1% &1d & ford =g
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48,

Statement - I : Advance tax is calculated 48,

on previous year income,

Statement - II : If estimated tax payable
after T.D.S. is not exceed to ¥ 10,000 then
advance tax will not be paid.

Statement - III : Second instalment of
advance tax payable in case of assessee
fall due 15™ September.

BYT - 1 : AW FX 1 701 19 o = ey
B

AT - 112 A ST I % 91 s
Wﬁuﬁﬁm,oooﬁm%.aﬁaﬁmm
& R |

AT - 111 : FeoI 4oft 3 Fheern & form a1fir
FH TH fora it 37 fafy 15 R &

(A) Statement - I and II are correct but (A) HRAT- 1911 9 € Sl w9 - 01
Statement - III is not correct. BHECES
(B) Statement - II and III are correct (B) H¥T-119 11 & & wafF wHaT- 1
but Statement - I is not correct. el TR 2
(C) Statement - I and I are correct but (C) =&T-17 11 wEl ¥ Fafs e - II
Statement - II is not correct. el T R
(D) Al the statements are correct. (D) Wt o Wt ¥
49. Which of the following is not a non-tariff 49, freafafaa 4 & a5 1 faceft =R %1 e
barrier of foreign trade ? e aemd W & 2
(A) Export quotas (A) Trafa =
(B) Product valuation (B) 3SR qegis
(C) Protective tariffs (C) Hf&a wyee
(D) Multiple-exchange rates (D) wg-fafmg &1
SPACE FOR ROUGH WORK / T% ®1d % forg e
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50.

51.

B2.

The Theory of comparative costs was first
propounded by

(Complete the sentence by choosing
appropriate words to fill the blank)

(A) David Ricardo
(B) Ohlin
(C) Robinson

(D) Alfred Marshall

If a partner contributes in a partnership
business, then his status in firm is :

(A) Partner
(B) Employee
(C) Creditor

(D) None of above

Which of the following is not an
international financial institution ?

(A) IBRD
(B) IMF
(C) IDBI

(D) IFC

50.

51.

52;

qoarcq® ard & fagia #1 wdugy
B SErferd feran )

(Rt T =1 gfd g S H T ¢
Fife)

(A) Sfaz fret
(B) 3frefem
(C) feem
(D) #Aehe HNe

HrEerl S ¥ 4fE T gRer 9 S
T, 9w A S fafa adft £

(A) WERER i
(B) HHad =
(C) o eR =t
(D) 3= § | FIE T

Frefafea 9 9 #m @ siaiiy fa<dia geen
e

(A) oTE.STIRE.
(B) STR.UH.UW,
(C) e Stat.am.
(D) E.TH.HL.

SPACE FOR ROUGH WORK / 1% &Td & fod sg
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53.

54.

55.

In a Company if current liabilities are
< 3,00,000 and current ratio is 3 - 1 and

quick ratio is 1 : 1 then value of stock will
be :

(A) % 80,000
(B) ¥ 60,000
(C) 50,000

(D) % 90,000

Which of the following is not Marketable
Asset ?

(A) Share
(B) Government Securities
(C) Bonds

(D) Provident Fund

Assertion (A) : Correlation coefficient
varies between +1 and —1.

Reason (R) : Regression coefficients
range between +1 and —1.

(A) (A) is correct but (R) is wrong.
(B) (A) is wrong but (R) is correct.
(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are wrong.

53.

54.

55.

fersdil weft & afe =1 =1fae 2 3,00,000
T =TS ST 3 : 1 T Sifwre S 1:1 3

ol SHF THY H G A
(A) ¥ 80,000
(B) % 60,000
(C) 50,000

(D) 90,000

frefefad § & FF-wr fogra afafy T8
2?2

(A) IR

(B) T Wiyt
(€ =y

(D) wfesy fafy

AU (A) : Fe-day ToF +1 3w 1
F A gREfda g ¥

T (R) : FHIFIO 0% 909 +1 3R —1
& T BT R |

(A) (A) T B, T (R) 7o &
(B) (A) e §, WY (R) WEl ¥
(©) (A) 3R (R) FrT =& |
(D) (A) 3R (R) E et ¥
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56.

5.

Assertion (A) : Devaluation in general is
resorted to increase the exports.

Reason (R) : It makes exports cheaper.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Which new Indian Accounting Standard
provides standards for (i) Intangible assets
and (ii) Earning per share ?

(A) AS 38 and 33

(B) AS 28 and 40

(C) AS 38 and 101

(D) AS 40 and 101

56.

DY

AT (A) : Tae, wmr: fafa §
gfg & for foran st 2

/T (R) : 92 Tafa =i ww a9 1

(A) (A) W (R) T HEt § 3R (R), (A) F
el T §

(B) (A) TS (R) THI WEl € W (R), (A)
TEl T 78 B

(C) (A) W& &, g (R) o &)

(D) (A) 7erd 8, W (R) 9&t ©1

FH W T YA @R AHE (i) ST
Tl U (i) 9fa 9 o # wefiia s
% OHF od &2

(A) AS 38 3R 33
(B) AS 28 3f 40
(C) AS 38 3R 101

(D) AS 40 3R 101

SPACE FOR ROUGH WORK / T% &1d & fod smig
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58. Following is the use of Business  58. fruly fowivr 3 & sy SR 1 ST
Economics in the area of decision Ty fom g & 2
making : ;
(A) Understanding the external forces (A) - sreferereen # SRy wiive F gugEr
in the economy :
(B) Knowledge of costs incurred (B) TrF@HIIA
(C)  Profit planning (C) Y e
(D) Sales forecasting (D.) IEED ’-Efﬂ'qﬂ
59.  Match the items of List - I with those of 59 e -_'1 Eal na? 1 Gelt - = e % 9y
List - II and indicate the correct ghfea #ifsd = F F WE IR F T
code. i |
List - I List - II Tl -1 o - 11
(@) Tax management (i) Under-statement (a) X HEy (i) 3m w FH femr
of income ‘
(b) Tax avoidance (i) Deduction of tax (b) F ufEr (i) ST E WHFH
at source : FHardt
() Tax planning (i) Misinterpreting () = FEmE (i) ST Afufram &
the provisions of WAy ) e
the income tax act e
(d) Tax evasion (iv) Legal and moral (d) =T 3r9E=T (iv) X FEH @ Suife
way of tax saving : 3 K R A alan
Code : %
@ ®) (o (9 (@ (b) (o (d)
A) @ (@ @) @ @) @ @ @ o
B () @ @) () B @ @ (@) @)
© G O @) @) © @ O @) ()
@ () () @) @) @ G @) @) G
SPACE FOR ROUGH WORK / 1% %4 & forst og
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-~ 60.

(b)
(c)

(d)

61.

Match the following : 60.
List-I List-II

Single investor (i) 3 parties (a)
lease

Leveraged lease (ii) 2 parties (b)
Cross-Border  (iii) Finance lease (c)
lease

Full payout (iv) International (d)
lease lease

Code :

@ (® (9 (@
(&) @) @) @) (@)
(B) @@ @) (v) (i)
© @ @ @ @)
(D) (v) @) @ ()

When the past data is projected into the 61.

Future, without explaining the reason for
Future trends, it is known as :

(A) Partial Forecasting
(B) Mathematical Forecasting
(C) Naive Forecasting

(D) Trend Projection

SIEEANRGIE (i) 2mfém
HH1-R ot (i) g ofis
EURUGIERTIE (iv) =™ e
%‘:

@ () (9 (d
(A) O @) @) ()
(B) @) @ (v) (i)
© O @ @ (v
(D) (v) (@) @) ()

wfars < yaferll % $Rw i w2 7 539 gu
fordl ya-vd =1 ®1 ufos & wdfe w0y
F FEd T

(A) e qatgam
(B) T e
(C) Wew aigam
(D) wgf wfedrsr

SPACE FOR ROUGH WORK / T% %14 % fod e
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62.  Which of the following assumptionisnot 62, T STEIRT 30T F MR W e Y

related to consumer behaviour based on FH-Gt FHEYHT, STHTHT aER 9§ Hafyg EEil

the cardinal utility approach ? €2

(A) Utility cardinally measurable (A) 39 gyra: "o &

(B) Maximization of satisfaction with (B) Wifwd w7 & & ww wyfe =
limited money income AfrshastHT

(C) Diminishing marginal utility of (C) 94 % Hraid Sy 1 T2
money

(D) Rationality (D) TEhEf

63. Which of the following statement is 63, frtferfen § @ #n W e g & 2

correct ?

(A) A partnership can be a general (A) WERER, HHT WIER 2 Tehelt &
partnership

(B) A partnership can be a particular (B) WERRI, T fafire WIERRT & Feheft &
partnership

(©) (A) or (B) anyone (©)  (A) = (B) #K T

(D) None of these (D) 9l o § T

SPACE FOR ROUGH WORK / 7% & % fordt wrrg
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64.

The concept of
limitations of marketing philosophy,
acknowledging the need to impose
regulatory constraints on the market
mechanism in economic development
(Van Dam and Apeldoorn), particularly
the impact of marketing activity on the

accepts the  64.

#I yron, onf¥w fawmg o
faqum o wit Fa, fooom d ) fefhes
STEAATHA] I STRITIG HIA i STETIHAT Fl
HA Yo HEA (99 29 R wdegH)
fodioey € wofa W fagum wfafafisy &
TS WHR FHT T

environment.

(A) Ethics (A) ifaemes

(B) Green marketing (B) & fagom

(C) Sustainable marketing (C) iy fagom

(D) TQM (D) TQM
65. The major suppliers of trading 65. T Wﬁwwﬁ%mw

instruments in the Capital Market are : ¥:

(A) MNCs (A) THUTAHL

(B) NBFCs (B) TA.S.UE.HL

(C) Flls (C) UW.33.3T.

(D) Government and Corporations (D) W&ER ws frm

SPACE FOR ROUGH WORK / T% &1 & forar g
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66.  Which of the following attributes is/are 66, Frefefen ¥ 4 =5 @A afre HET STSIR %

correct with regard to Money Market ? BERRK: i

(a) Itis a market for short-term funds, (a) 7 sreurafy fafy deet ammm )

(b)  Maturity of the instruments in this (b) 6 IR H IUFOT F ufrgsear Th
market is above one year. el % TR ¥ |

(c) Its basic function is to provide () fasig e, wevrht fify R sy
efficient liquidity position for Wﬁﬁﬁmmﬁwﬁmm
financial institutions, mutual funds THH qAYd w1 7|
and insurance companies.

(d)  Any financial institution can issue (d) i oft foreit ween omedig ¥ R el
money market instruments without SIS SYFIT FI S Y Goha gl
license.

(A) (a) and (b) (4)  (a) ¥ (b)

(B) (b) and (c) (B) (b) ¥ (¢)

(©)  (b)and (d) ©  (b) *R (d)

(D) () and (c) (D) (a) 3 (c)

67. Which of the following is not a feature of 67. ffafas § § s EECERC e ek

the Consultative Style of Management ? Heft =t Ferdroan =8 2

(A) Motivating Employees (A) FH=IE # Sremfed e

(B) No upward Communication flow (B) ST WIYY yarE ¥t STqurefy

(C) Downward Communication flow (C) T Hwor yare

(D) Managers acting as Consultants (D) wHeRms ¥ ®9 § yeyswy Eal

HrER
SPACE FOR ROUGH WORK / T% & % forgy g
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68.

69.

70.

In year 2018 Government of India  68.

allowed FDI in single brand retail
through automatic route is

(A) 51%
(B) 49%
(C) 100%

(D) None of these

Point out from the following pair which 69.

does not match ?

(A) IMF - Bretton Woods Conference
(B) SAARC - Dunkel proposals

(C) WTO - GATT

(D) EXIM Bank - Finance for imports
and exports

Share forefeiture account is a : 70.

(A) Real Account
(B) Personal Account

(C) Nominal Account

(D) None of the above

T4 2018 H YRA WHR 3 U THel o€ o
wEferd AT | TR, #T eufa @
, SRR

(A) 51%
(B) 49%
(C) 100%

(D) T8 | wE

e 3 @ - Sl e T 37

(A) IMF - foea 929 Fihed
(B) SAARC - Ehel I
(C) WTO - GATT

(D) EXIM & - 37w iR faafa & ferg
fam

Y T G R

(A) drifas @
(B) =afeTd @ral
(C) T B

(D) W H ¥ HE 78

SPACE FOR ROUGH WORK / 7% &4 & o =g
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71. For qualitative data, the most suitable 71. W%ﬂ 'a?fFI'Q, ﬁngﬁ-r 1 Haffees
measure of central tendency is : SUE A &
(A) Arithmetic mean (A) HHIHR "1
(B) Geometric mean (B) SHIfHdr Hieg
(C) Median (C) iz
(D) Mode (D) dgas
72.  The amount of gold, reserve currencies 72. ST fad =R ¥ sifm fafde oon A
and special drawing rights available for |1, 51 e we fafine s & sifuen
the finance of international trade is %I Fed ¥
known as :
(A) Special Drawing Rights (A) fafire smeww sifymr
(B) International Liquidity (B) AU e
(C) International Finance L (© s fo
(D) International Currency (D) U Hqg
73. A strategy is a promotion 73. THIT T Y= WAt & S
strategy that calls for spending a lot on e =i % fmfu & o fagm sik RLGED
advertising and consumer promotion to AT R Afh =47 wa &1 3fg 78 It
buildup consumer demand. If the I T 1, =l % gR IS F AR [
strategy is successful, consumer demand EI%TITI
will move the product through the
channel.
(A) Pull Strategy (A) T ToHEIfG
(B) Integrated Strategy (B) Wehighd WO
(C) Push Strategy (C) g Yot
(D) Blocking Strategy (D)  weAifeR™ T
SPACE FOR ROUGH WORK / T% & & ot g
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74.

9.

In case of liquidation of a Company for a
recover contributor’s are :

(A) Creditors and debenture holder’s of
a Company

(B) Shareholders of a Company

(C) Shareholders upto outstanding
amount

(D) All of the above

Given the following set of inform:ation,
indicate the correct combination to define
the process of perception in order to
understand consumer behaviour.

(a) Selective attention

(b) Selective distortion

(c) Selective retention

(d) Selective apprehension

(A) (a) and (d)

(B) (a), (b) and (d)

(€) (b), () and (d)

(D) (a), (b) and ()

74.

75.

FHt aREHE & ewn # frans ¥ ol
YeTal § ST

(A) FHHHAT % TR TS SRURH

(B) FHrt & siwryr

(C) =¥t & 315d U T v

(D) SR gt

e T T yEel % wuer ¥ @, sqste
TR T F ¥ forw sueifed whean ¥ wdr
STIhH h1 SRS iy |

(a) =TTHE FFUE

(b) =T faf

(c) =IATHE HRO

(d) =S

(A) (a) 3R (d)

(B) (), (b) ¥R (d)

© () (0 ¥R (@)

(D) (), (b) 3 (c)
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76. An exception to the rule of ‘No  76. ‘7 fa=r-foamst - 7 gfaer’ =1 frag & feg
Consideration - No Contract’, is : HYEE € :
(A) Promise to pay debt (A) RO YTaH % fore o=
(B) Promise to pay time-barred debt (B) hIEAId R YA & fera s=m
(C) Debt (C) =W
(D) Past debt (D) oudtd o
77. Assertion (A): Internal factors of business 77, 3R (A) : SHIHITIF TATR % AR
environment are uncontrollable factors. Y2 AN 2k B & |
Reason (R) : The Company can not alter I (R) : H941 TH w2l &1 qgiewo &
or modify such factors to suit the fere Swge sAm *g ofafda ar deifea =@
environment. T Hehdl B |
Code : E&E
(A) Both (A) and (R) are incorrect. (A) (A) 2R (R) E T 1
(B) Both (A) and (R) are correct. (B) (A) iR (R) ST @&t €1
(C) (A) is correct but (R) is incorrect. (C) (A)GEl T TG (R) T B
(D) (A) is incorrect but (R) is correct. (D) (A) 7o € T (R) TEt §
SPACE FOR ROUGH WORK / 1% &4 & fod s
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78.
(@) Maslow (i)
(b) Herzberg (i)
(c) Alderfer (i)

(d) McClelland (iv)

7

80.

Match the following :
Motivation-Hygiene
Need hierarchy

Existence-Relatedness-
Growth

Need for achievement

Code :

@@ (b) () (d)
(A) @ @ @) @)
(B) @) @@ @) ()
© @) @@ @ @)
(D) (@) @i) @) @

If a Poisson distribution has mode at x =3
and 4, then the coefficient of variation is :

(A) 25%
(B) 50%
(C) 100%
(D) 200%

Which of the following would not be one
of the primary objectives of advertising ?

(A) To inform
(B) To persuade
(C) To remind

(D) To make profits

78. T =1 faem Fifsw

(a) wr= () UIHREA-TESA

(b) st (i) YSHNIH F STEYIHA

(c) Me=TH (i) SAfGE-Haga-gig

(d) HHFAiE  (iv) SUcfey FT TavaHal
%< :

79,

80.

@ () (0 (d
(A) (@) @) @) (v)
(B) () () @) (iv)
©) @) @) @ @)
(D) (v) (@) () (5)

If giae foemo 1 Sge =3 R4 |
a1 fa=ror =1 ToTisR B

(A) 25 gfas
(B) 50 wfawra
(C) 100 gfawmE
(D) 200 wfaem

Frefofea § & Si-u1 faarm =1 v wefis
3evd T €2

(A) STHHRI &
(B) 1T LT
(C) TR FHTAT
(D) &Y HHA
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81. For analysis of variance the appropriate 81. fa=ro = faverm & fag I GhE E
test is :
(A) Z test (A) Z wi&m
(B) A test (B) A gdigm
(C) ttest (C) tudtem
(D) F test (D) F qdigm
82. The first ADR was introduced by  82. .4 HAT 5 o9 ADR %! yeTa e
J.P. Morgan in : RIE L
(A) 1947 (A) 1947 &
(B) 1932 (B) 1932 %
(C) 1927 (C) 1927 ®
(D) 1925 (D) 1925 ¥
83. Who formulates Basel guidelines ? 83. HeYd HAFieYH & e faas fapan 2
(A) G20 Countries (A) .20
(B) OECD (B) SNEHEEN.
(C) BCBS (C) it eg.
(D) World Bank (D) o2 %
84. Multinational ~capital budgeting  84. TEULHT Yot T qHAHI H1 STENT Frgd
techniques are used in : feran e € 2
(A) Foreign portfolio investment (A) faesft déwifer few favemm
analysis
(B) Foreign direct investment analysis (B) Tereeft yee fawr fageram
(C) Both (A) and (B) © (A) T (B) I
(D) None of the above (D) W H ¥ FE T
SPACE FOR ROUGH WORK / 1% &4 & ot e
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85.

86.

87.

Developing a product or modifying an old

product in accordance with the

preference and purchasing power of a
potential customer is termed as :

(A) Customisation
(B) Tailoring the product
(C) Customer centric approach

(D) User Friendly policy

Which of the following is not considered
as objective of IMF ?

(A) To promote international monetary
co-operation

(B) To ensure balanced international
trade

(Cye o
economic growth of member

minimise imbalances in

countries

(D) To minimise imbalances in

quantum and duration of

international trade

A Bangladesi Cricket Player comes India
since 2008-09 every year to play cricket
State his
residential status for assessment year
2019-20.

(A) Ordinarily resident

and stays here for 120 days.

(B) Not ordinarily resident
(C) Non resident
(D) None of these

85.

86.

87.

U 941 Ues o a4dgdl Ua %9 v &
FER fodt @ a1 fawmg sigen
BTN Ui i Fed © :

(A) Efghtm

(B) SR T AT
(C) e i 3urH
(D) 9T FE Hifq

frefafead ® @ =i9-31, IMF &1 3299
T E?
(A) e fafea wedm =i defea &

(B) dHfera fadiedia =mr =i gffyem
FEAT

(C) = <3N F anffeh forshret i1 oTeiqer
i FHH HAT

(D) SiaUs™ =AMR &1 afy U Faien
AT I FH HT

T sTeraelt fohehe faemet 2008-09 & wfeard
RA § 5hthe Be o § ek wRa H 120
fa1 wa &1 # Fawfeor = 2019-20 F forn
9t Frardyg frafa = 2mft 2

(A) wrErRo far

(B) 9wy fAadt
(C) aifars

(D) ST 4 #1E 78

SPACE FOR ROUGH WORK / 1% &1 % ford e

'Y s
9210/TFU-COMM/ELG-II

Set- A



88.  Which of the following is not an objective 88, frefafen & 4 wFm fes sise @
of performance appraisal ? v T ¥ 2
(A) Performance Feedback () s wfagfe
(B)  Performance Improvement (B) Frearem gur
(C) Promotions Decisions (C) vrfa faofg
(D)  Preliminary Screening (D) WRR Bs
89. Match the following : 89. Fr= =1 faem #ifs .
(@) F.W.Taylor (i) Bureaucracy (a) TH.I, TR () g
(b) Max Weber (i) Administrative (b) H¥9 a=R (i) ‘Jmaﬁ'q
Management EECE
(c) Chester L. (iii) Scientific () TR TEE (i) Fufrw
Barnard Management EELE|
(d) Henri Fayol (iv) Social System (d) T S (iv) SrfeR
EEEES|
Code : Fe
@ (b) (o) (d) @ () (o (9
(A) () @) (i) (v) (A) O @ (i) (v)
(B) () (i) (iv) (i) B) @) @@ @)
© @) @ @Gv) @ © @) G @) @
D) @) @ (@v) (i) D) @@ @ @v) @)
SPACE FOR ROUGH WORK / 1% &t % fordt wg
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90. Assertion (A) : Business risk is 90.

independent of capital structure.

Reason (R) : Rate of return is not
influenced by the sources from which the
funds have been raised.

(A) Both (A) and (R) are correct.
(B) (A) is correct but (R) is wrong.
(C) (A) is wrong but (R) is correct.

(D) Both (A) and (R) are wrong.

91. When does silence amount to fraud ? 91.

(A) In contracts uberrima fides
(B)  In change of circumstances ‘
(C) Only in case of (B) above

(D) - Both in case of (A) and (B) above

92. The term super financial hub in the  92.

content of banking is called :
(A) Universal Banking

(B) Narrow Banking

(C) International Banking

(D) Wholesale Banking

ATUHYT (A) : FaEIIe: ShET Tt T
JEAI A e

/T (R) : Gfa%el & 37 Fareml | guifem
& g1 Sel |} FW (fund) 1 S fE
TR

() (A) 3R (R) I W& §1

(B) (A) W& & W (R) oM ¥
(C) (A) 7T €, W (R) &
(D) (A)aﬁt(n)aa‘fnéﬁl

T, F8 B 1 HR 71 & ?

(A)  Pof T o #

(B) rawued & weed o

(C) 3T *ad (B) & foug &
(D) 39 S (A) iR (B) & fawag o

R % ded § g fei 79 ve B T

(A) wrEifas ST
(B) H®Ivl Sfehm
(C) siquisia dfdhm
(D) aﬁmé‘m
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93. IfP(A)=05 P(B)=06 and P(ANB)=04, 93, M P(A) = 0.5, P(B)=0.6 3R P(A~B) = 0.4

then P(A/B") is equal to : 2, T4 P(A°/BC) SR 2 -
(A) 0.30 (A) 030 %
(B) 0.67 (B) 067 %
(©) 0.70 (©) 070 %
(D) 0.75 (D) 075 %

94. Section 138 of Negotiable Instrument Act 94. GRT fermm sifufay =) umy 138 =i farg

was amended in which year ? ad F Heifea fapan 2
(A) 1999 (A) 1999
(B) 2008 (B) 2008
(C) 2001 (C) 2001
(D) 2002 (D) 2002
95. Who proposed the ERG Theory ? 95. ERG fagr =1 farem yzaiferg fira 7
(A) Victor H. Vroom (A) Fozw= gm
(B) Lyman W. Poter (B) WmEHA T=5, drex
(C) Clayton Alderfer (C) =TT 3MTeTH
(D) McClelland (D) Hkhaiters
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96.

97.

The central government has so far entered ~ 96.

into agreement for avoidance of double
taxation with many countries. These
agreements may be classified into
following parts :

(a) Agreement for relief from Double
taxation i

(b) Agreement for avoidance of Double
taxation

(c) Agreement for tax planning
(d) Agreement for tax evasion
An appropriate combination is :
(A) (a) and (b)

(B)  (c) and (d)

(©) (b) and (c)

(D) (a) and (d)

The balance of payment account is 97.

conventionally divided into :

(A) Current and non-current account
(B) Revenue and capital account

(C) Capital and assets account

(D) Current and capital accounts

& TWHR 7 2l TR § g9 (9fEr)
o foTu 6% <uil & Ty g9 fean =@ e
wﬁﬁaﬁwmmm%:

(a) SrEY HIAIY F ed % fog seqa

(b) TR HUY ¥ F=E (qfEr) F foau
R

(c) = FHaeE & fou setE
(d) = HA9sEg & fow SewE
SFera T #

(A) (a) 3R (b)

(B) (o) 3R (d)

Q)  (b) ¥R (o)

(D) (a) 3R (d)

YAH @4 & Y & Tgnd &9 4 fauafsg
frarsman g .

(A) = 3R -] @e 8§
(B) U IR dSia @i |
(C) s 3iR gfteafs @M &
(D) =] iR Yeitra @ o
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98. Insolvent has been defined under which
Section of Sale of Goods Act ?

(A) Section 2(5)
(B) Section 2(6)
(€)  Section 2(7)

(D) Section 2(8)

99.  According to promotional mix, method
which focuses on building relationships
with individual customers to maintain
lasting relationship is called :

(A) Sales promotion
(B) Direct marketing
(C) Direct channelling

(D) Offline promotion

100. An act of a partner is that of firm or not
is a question of :

(A) Fact
(B) Law
(C) Fact and Law both

(D) None of above

-00o0-

98. nmfamaafuﬁmﬁmamﬁ‘ﬁmm'
=1 gftafyd fram o 2

(A) T 2(5)
(B) ®TI 2(6)
(©) Hr2(7)

(D) #m 2(8)

99. Wa¥T fag & srER, fer ey =t guery
%fﬁqé‘qﬁwwaﬂm@ﬁ%m&mﬁuﬁm
R I o 1 st S &

(A) fafsw v
(B) I STSIR
(C) F&T EofamTo
(D) SAiwaET g4

100. wmﬁmaﬂmwwm%maﬁm
TFT%:

(A) T =
(B) fafy =

(C) aen aen fafy 2Mf =
(D) S F q &

-00o0-
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SET - A

I 3Rt T T WHT ; 2 9 : Aferwam ik : 200
Time for marking answers : 2 Hours Maximum Marks : 200
e

L ¥ -9 7 100 TR 99 ¥ - oE T 2 9% o R Tt 99 g e S
2. W ¥ IW, § T OMR IWR-¥iiz (eR-3ie) W sifea Fifm

3. RIS Hedishd TE fean s

4. TE it T % Segeret @ wi dae e Hieee B %W i &

5. OMR SW-32 (ER-¥e) 1WA R T U R SR T F/ e F T we s
o g =1 fawmee snft ve T frh Fererey % @uE & |

Note :

1. There are 100 objective type questions in this booklet. All questions are compulosry and
carry two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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